

04.02.2011 to 06.02.2011 **Gold Women - Interpretive**

Evan Lochhead -

North Surrey SC Segment Rank - 1

BaseValue	GOE	Score
nultiplied by 1.1		
ed jump		
ion in base value	e for	
nt		
	nultiplied by 1.1	nultiplied by 1.1 ed jump tion in base value for

Program Component			
	Score	Factor	Points
Skating Skill	3.83	2.00	7.66
Transition/Linking Footwork	3.50	2.00	7.00
Performance/Execution	3.83	3.00	11.49
Choreography/Composition	3.67	3.00	11.01
Interpretation	3.75	3.00	11.25
Total Component Score			48.41

Deductions

Total Deductions

Total Segment Score 48.41







e - Severe Wrong Take-off edge

d - D1,D2,D3 & D4 represents deduction in base value for

missing requirement

04.02.2011 to 06.02.2011 Gold Women - Interpretive

Danielle Ryan Port Coquitlam FSC

Segment Rank - 2

Element BaseValue GOE Score Total Element Score x - credit for second half, base value multiplied by 1.1 * - invalid element, scored as zero < - underrotated jump, << - downgraded jump

Program Component			
	Score	Factor	Points
Skating Skill	3.08	2.00	6.16
Transition/Linking Footwork	3.25	2.00	6.50
Performance/Execution	3.50	3.00	10.50
Choreography/Composition	3.17	3.00	9.51
Interpretation	3.50	3.00	10.50
Total Component Score			43.17

Deductions

Total Deductions

Total Segment Score 43.17







04.02.2011 to 06.02.2011 Gold Women - Interpretive

Ashton Wickramaratne -

North Surrey SC

Segment Rank - 3

<u>#</u> <u>Element</u>	BaseValue	GOE	Score
Total Element Score			
x - credit for second half, base val	ue multiplied by 1.1		
* - invalid element, scored as zero			
< - underrotated jump, << - downs	graded jump		
e - Severe Wrong Take-off edge			
d - D1,D2,D3 & D4 represents dec	duction in base valu	e for	
missing require	ement		

Program Component			
	Score	Factor	Points
Skating Skill	3.25	2.00	6.50
Transition/Linking Footwork	3.33	2.00	6.66
Performance/Execution	3.33	3.00	9.99
Choreography/Composition	3.17	3.00	9.51
Interpretation	3.42	3.00	10.26
Total Component Score			42.92

Deductions

Total Deductions

Total Segment Score 42.92







04.02.2011 to 06.02.2011 Gold Women - Interpretive

Caitlin Jarvis -

Sunshine Coast FSC

Segment Rank - 4

# Element	BaseValue	GOE	Score	
Total Element Score				
y andit for accord half ha	as value multiplied by 1.1			
x - credit for second half, ba	ž •			
* - invalid element, scored a				
v 1	< - underrotated jump, << - downgraded jump			
e - Severe Wrong Take-off edge				
d - D1,D2,D3 & D4 represen	nts deduction in base valu	e for		
missing r	requirement			

Program Component			
	Score	Factor	Points
Skating Skill	3.17	2.00	6.34
Transition/Linking Footwork	3.17	2.00	6.34
Performance/Execution	3.17	3.00	9.51
Choreography/Composition	3.17	3.00	9.51
Interpretation	3.25	3.00	9.75
Total Component Score			41.45

Deductions

Total Deductions

Total Segment Score 41.45







04.02.2011 to 06.02.2011 Gold Women - Interpretive

Domenique Busto -Sungod SC

Segment Rank - 5

# Element	BaseValue	GOE	Score
Total Element Score			
2000 2000			
x - credit for second half, base value n	nultiplied by 1.1		
* - invalid element, scored as zero			
< - underrotated jump, << - downgrad	ed jump		
e - Severe Wrong Take-off edge			
d - D1,D2,D3 & D4 represents deduct	ion in base value	e for	
missing requirement			

Program Component			
	Score	Factor	Points
Skating Skill	3.25	2.00	6.50
Transition/Linking Footwork	3.08	2.00	6.16
Performance/Execution	3.17	3.00	9.51
Choreography/Composition	3.17	3.00	9.51
Interpretation	3.25	3.00	9.75
Total Component Score			41.43

Deductions

Total Deductions

Total Segment Score 41.43







04.02.2011 to 06.02.2011 Gold Women - Interpretive

Allison Perry -Sungod SC

Segment Rank - 6

# Element	BaseValue	GOE	Score
Total Element Score			
11.6	1.2 12 11 4 4		
x - credit for second half, base value i	nultiplied by 1.1		
* - invalid element, scored as zero			
< - underrotated jump, << - downgrad	led jump		
e - Severe Wrong Take-off edge			
d - D1,D2,D3 & D4 represents deduc	tion in base valu	e for	
missing requireme	nt		

Program Component			
	Score	Factor	Points
Skating Skill	2.75	2.00	5.50
Transition/Linking Footwork	2.83	2.00	5.66
Performance/Execution	2.83	3.00	8.49
Choreography/Composition	3.00	3.00	9.00
Interpretation	3.08	3.00	9.24
Total Component Score			37.89

Deductions

Total Deductions

Total Segment Score 37.89







04.02.2011 to 06.02.2011 Gold Women - Interpretive

Caitlin Ryan -

Port Coquitlam FSC

Segment Rank - 7

# Element	BaseValue	GOE	Score
	<u> </u>		_
Total Element Score			
x - credit for second half, base va	alue multiplied by 1.1		
* - invalid element, scored as zer	ro		
< - underrotated jump, << - down	ngraded jump		
e - Severe Wrong Take-off edge			
d - D1,D2,D3 & D4 represents d	leduction in base value	e for	
missing requi			

Program Component			
	Score	Factor	Points
Skating Skill	2.67	2.00	5.34
Transition/Linking Footwork	2.75	2.00	5.50
Performance/Execution	2.67	3.00	8.01
Choreography/Composition	2.83	3.00	8.49
Interpretation	2.75	3.00	8.25
Total Component Score			35.59

Deductions

Total Deductions

Total Segment Score 35.59



